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QUESTION 1

What is the purpose of the source and destination ports in the TCP header? 

A. These ports identify the physical location of the sender and the receiver on the IP router. 

B. These ports are used as addresses to communicate with the IP layer. 

C. TCP does not use source or destination ports. 

D. These ports are used as an address to identify the upper layer application using the TCP connection. 

Correct Answer: D 

 

QUESTION 2

What capability of TCP/IP allows two hosts to have multiple TCP sessions to each other simultaneously? 

A. The combination of IP source and destination address and TCP source and destination port uniquely identifies each
session. 

B. The combination of IP source and destination address and the IP protocol field uniquely identifies each session. 

C. The hosts can identify the sessions using each others MAC addresses. 

D. Two hosts can not have multiple TCP sessions simultaneously. 

Correct Answer: A 

 

QUESTION 3

What is the preference value in the routing table used for? 

A. To select from routes with different next-hops. 

B. To select from routes with different costs. 

C. To select from routes learned from different routing protocols. 

D. To select from routes with different prefixes. 

Correct Answer: C 

 

QUESTION 4

Which of the following is a function of the Link layer? 

A. It is responsible for encapsulating packets into frames for transmission on physical media 
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B. It is responsible for encapsulating packets into IP datagrams and routing them 

C. It is responsible for encapsulating application data into TCP/UDP messages 

D. It is responsible for the timing of the signals on physical media. 

Correct Answer: A 

 

QUESTION 5

What type of MAC address is ff:ff:ff:ff:ff:ff? 

A. Unicast 

B. Multicast 

C. Broadcast 

D. Anycast 

Correct Answer: C 
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